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No. BE ¥R B ot ]
TR —LIEFHETLS 1 = 4,760,700
BRI RIEDEBYELET,
IREES| = 1 = ¥-4,300
BlESE 1 = ¥-2,400
INEE ¥4,754,000
HRB ¥475,400
&t ¥5,229,400
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No. £ ¥ OE|\E | B & &
1R T = 1.00[ = 325,000
2|RATE 1.00 =K 30,000
EETE 1.00] = 950,100
Al LTS 1.00f =K 104,200
S|#I=E 1.00] = 100,000
6|EXTE 1.00f =K 656,000
7|ZERBRIE 1.00[ = 350,000
Sl TE 1.00f =H 100,000
oO|FERE 1.00 =K 350,000

10| E#ES 1.00f =H 1,227,000

11|BFKERIETE 1.00 =K 188,400

12|BHEEiETE 1.00f =H 200,500

13| Z D fthiBfn 1.00] =& 179,500

ait 4,760,700
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No. £ R ¥ E(E G| B &
1 |REBRIE
BEEE 100/ = 25,000 25,000
=HLE 1.00[ = 30,000 30,000
1R 100/ = 30,000 30,000
REMULLE 1.00] = 120,000 120,000
5lEELY)—=2 1.00f = 60,000 60,000
glEELY)—=2F 1.00] = 60,000 60,000
=&t 325,000
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No. £ R .. ] ¥ E|E | Bl & B
2 |RGBIE
BEFEAAILA—RYRRIAL |VTRhAREE 1.00] = 20,000 20,000
W5 1.00f = 10,000 10,000
&t 30,000
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No. 4 o b | ¥ OE|\E | B & 8
3 [EFTE
EmEtY LEDH—AFE 1.00] =X 80,000 80,000
BE7F 22 T ihedod 1.00] == 30,000 30,000
B B O 45 1.00 = 8,600 8,600
FREENI L E— 1.00] = 350,000 350,000
S EHR 1.00{ #Fr 26,000 26,000
BEERE/ N\ RILEH 100 = 20,000 20,000
HEAOR 1.00| &7t 80,000 80,000
B 5 R 1.00| ~FR 26,000 26,000
EE# 1.00] X 25,000 25,000
RGETE 1.00] =X 150,000 150,000
SRR A B 100 = 50,000 50,000
HERKLF 11.00f mf 9,500 104,500
=1 950,100
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No. & R ¥ E(E G| B &

4 |HLETE
FRIEEAAILIEY Y15 10.00 i 5,500 55,000
KERI—RERY EHE 11.00 5,200 57,200
PZANIIES H60 100 = 20,000 20,000
BE# 1.00] =t 15,000 15,000
E A E 100 = 12,000 12,000
=11 104,200
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No. 4 R ¥ E(E G| B &
5 |MTE
IVRSURKREAILIRY 1.00] = 100,000 100,000
&t 100,000
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No. & b | ¥ E(E G| B &
6 [BERIE
AR5/~ 5tV 1000 & 8,500 85,000
BRY I V15 1.00] = 25,000 25,000
R—Z5/k 4000 & 24,000 96,000
IRBARCHR - SR BT 1.00f = 120,000 120,000
OVt R-SWIE 100 = 180,000 180,000
IREARCHR - B BT 1.00] = 120,000 120,000
ERRAE 100 = 30,000 30,000
=11 656,000
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No. & b | ¥ E(E G| B &
7 |ZHRBRSRIE
BTIR 2SRRI 25h EEET 1000 & 120,000 120,000
e - (ENERE) |[SEE-FLUE 1.00] = 50,000 50,000
ERN-EERNBSIE 1.00] = 100,000 100,000
Lyoo—K A—TJ 1.00] = 80,000 80,000
=&t 350,000
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No. 4 o b | ¥ OE|\E | B & 8
8 |MERMIE
HERRETSE HaoK-HEK-#8i5 100 = 150,000 150,000
B EHE 2R AR A - R 1.00] == 120,000 120,000
HMIEES 1.00 = 20,000 20,000
EMEWRIEA T 1.00] = 15,000 15,000
a&t 305,000
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No. 4 Lo ¥ OE|\E | B & 8
R
RS EEE 1.00] =X 150,000 150,000
RIGEE 1.00] == 100,000 100,000
SHRE 1.00 = 100,000 100,000
ast 350,000
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No. 4 b5 .| ¥ BB | B i & &

%

a—k—<iy 1.00] & {H 32 #6
E 3 W1200 100, & 20,000 20,000
ES W750 1.000 & 19,000 19,000
J—JILET—JIL 100 & 135,000 135,000
;Y KEET 100 & 40,000 40,000
AF—LaARGLay 100 & 550,000 550,000
VI —/\— 1.00f & B2 48 i
2BY KEED 100 & 40,000 40,000
B Yk W1200 200, & 42,000 84,000
LSF2ELVER 1.00] & 30,000 30,000
ERE 1.00] = 60,000 60,000
WAE 1.00] = 80,000 80,000
K 1.00| & 169,000 169,000
ait 1,227,000
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No. £ R ¥ E|E | Bl & B

RS ER I T

BELT 1000 & 33,000 33,000
ENER SN2 3000 & 8,800 26,400
BRI TEE 100 = 80,000 80,000
JHAES 100 & 8,500 8,500
FEEREUE 100 & 2,000 2,000
JHNER 1.00] & 8,500 8,500
HEhREILELNE 1.00f = 30,000 30,000
&&t 188,400
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No. £ o b | ¥ OE|\E | B & &

Lp ]

r—JIL CVTl4sq 900] m 1,500 13,500

F #¥3PCMB50A

Epajid 533 3PELB20x2 100 @& 70,000 70,000
BHEEHE 1.00| @& 6,500 6,500
TILRYHR 100[ & 5,500 5,500
FHBE 100 = 100,000 100,000
SHESEM 1.00] =X 5,000 5,000
a&t 200,500
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No. & b | A ¥ E(E G| B &

Z DB

#iRY /4> 800x350 FILIES RIS —b 1.00| #FR 22,500 22,500
TOUILIYXFH A W300&LT 1.00] = 28,000 28,000
B LiETE 100 = 15,000 15,000
Py —riEY 400, m 6,000 24,000
ELiETE 100 = 30,000 30,000
HRE 208 F RIBYLIEDHERZRE 100 = 60,000 60,000
&&t 179,500
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